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Kopuem ypasuenuns V6 — 23 = 26 + /3 sBiserca / Find the root of the

equation \/é—m\/gzx\/é—l—\/g
[ 3+2v2 [2]3-v8 [3] v8-3 [4] 2v3-3 [5] 2v2-3

Paccrosame Mexay Toukamu (2v/3 + 1;2) m (1;2v/6 + 2) pasmo / Find the
distance between points (2v/3 + 1;2) and (1;2v/6 + 2)
V33

[1] 6 [2] 8 [3] 7 [4] 6,5

10

Bricora, nmpoBejieHHas U3 BEPIIUHBI IPSMOIO yTJIa TPEYTOJbHUKA Ha TUIOTEHY-
3y, paBHa 3, a oguH u3 kareros — 4. [LInomaap Tpeyroibpauka cocrasiser / The
height drawn from the vertex of a right angle of a triangle to the hypotenuse is
equal to 3, and one of the legs is 4. The area of the triangle is

Hx B BT BY Eiv

11

! ! / Caleulate —— 1
— ABHO alculate —
tg60° — 1 ctg30° + 17 t260° — 1 ctg30° 1 1

8 8
[1] 1 El—g [3] -3 g [5] —1

Bripaxkenue

12

CymMa KBapaToB KopHeil ypasrenns 22 — 72 + 5 = 0 pasna / The sum of the
squared roots of the equation 22 — 7z + 5 = 0 is equal to
76

[1] 78 [2] 49 [3] 39 [4] 59

13

r—3

CyMma KOpHell ypaBHEHUST 3
T — T

r—3

5
= ; paBia / The sum of the roots of

. 5 .
the equation = 3 is equal to
T

—3
[1] 3 [2] 4 3] 1 [4] -1 [5] -3
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! 312{aqejne BI;Ipa)I;eHI/IH aa i 22 t 72 upu a = 2, b= 12 pasuo / Calculate
a”—b a’>+b
— ifa=2, b=12
a+b  a?—1? ’
G2« s [re s [61
2]y +—/ Simplify th i
[IPOCTHUTE BhIPAYKEHIE impli e expression ——
I; P a2 +ab | ab+t b2 PHY P o + ab
ab + b?
1 1 1 1
1| — — 3| — 5| ab
1] — (2] = ] = [ — [5] a
3| Yrobw uz 5 1 30% BomHOro pacrsopa coiu nouayunTh 15% pacTBop, B HEro
HY2KHO J06aBUTH JUTPOB BoAbl B KosmdecTse / To obtain a 15% liquid from 5
liters of 30% aqueous salt liquid, how many liters of water needed?
oo [l s [l 7
4 2
Yucaa a = \/g — \/6, b= \ﬁ — \/5, ¢ = ———— CBdA3aHbI COOTHOIIEHUSIMU
Vit V3
Numbers a =vV8—+v6, b=vV7T—+v5, c= ——— are related by
/ ) ’ \/7 + \/5
a>b=c a>c>b a<b=c a>b>c c>a>b
5 | KommaecTBo mesbix dmces, OJHOBPEMEHHO IIPUHAJJIEKAIINX IIPOMEXKYTKAM,
onpeesnseMbIM HepaseHcTBaMu |x| < 1,5, |« 4+ 1| < 3, pasro / Find the number
of integers simultaneously belonging to intervals defined by the inequalities
] < 1.5, Jx+1] <3
i ! ; ; 2
6 | U3 npusenennbix Boipakenuit na 17 mesmres duciao / From the given answers
which is divisible by 177
16° + 16 [2] 27 —9° +3° 164 — 213 — 47
E213_210_29 78_77+76
7 | Ha sneBarop nmocrynumo 350 T mieHunsr AByX copToB. IlepBbiit copT mimeHuib
cozepxkan orxon0B 3%, a Bropoit — 4%. Ilocse ouncrku nomyanam 337 T aucToit
reHnTbl. [IIeHnIIBl IePBOTo copTa TMOCTYINIIO Ha dyteBaTop (B TonHax) / The
elevator received 350 tons of wheat of two varieties. First contained 3% waste,
and the second — 4%. After cleaning, we received 337 tons of clean wheat. How
many tons of first type wheat arrived at the elevator?
100 150 [3] 230 200 140

Vpasuenue |(z —+/2)(z —2)| = 2735 umeer / The equation |(z —v/2)(z —2)| =
2735 has
3 kopHus / 3 roots E 1 kopenn /1 root He uMeeT KOpHeil / no roots

4 xopus / 4 roots 2 kopHs / 2 roots

15

Bejmuuna x + y, T T WY  YAOBJIETBOPSIOT  YPABHEHUIO
22 +9y? —42+6y+13=0, pasna / Find x + y, where z and y satisfy

the equation 2 + 9% —4x +6y +13 =0
5 -5

[1] 1 [2] -1 [3] 3
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(0,25)* — 64 coBagaeT ¢ MHOXKECTBOM
/ The domain of the function y = /(0,25)* — 64 coincides with the set

[—3;3] (=005 3] [—3; 400) (—o0; —3] [3; +00)

Obutactb onpeienennst (DYHKIAN Y =

23

Pemenust nepasencTBa 27 + 3 < 12 < 27 + 8 06pasyior mHOKecTBO / Solutions
of the inequality 2z + 3 < z? < 2z + 8 form the set

1:2)UG 2] —2DUGHBE] (—2-1)UG4)[4] (-1:3)[5] (1;4)

24

Bce 3nauenns a, 11 KOTOPBIX HEPABEHCTBO 22 — 21 + a > () BBINOIHACTCA 1IPU
JMO6BIX T, onpenessiercs: HepaeHcTBoM / All values a for which the inequality
2% — 22 4+ a > 0 exists for any x, is determined by

a<l1

a<—1 a>1 a>—1 Izla>1

25

Ecmn logy 7 = a, To logg 95 28 pasen / If logy 7 = a, then log 55 28 is equal to

~1-0,5a [2] —2+a —2-a 1-0,5a ~1+0,5a

26

Yucso kopueil ypasuenusi | — 2012| + |z — 1989] = 23, kparHbIX 5, paBHo /
Find the number of roots of the equation |z — 2012| 4 |z — 1989| = 23, multiples

of 5
[2] 3 [3] 2 [4] 1 [5] 5

27

4
2 —4r+4

2 _4x+3

2
¢ —4dr+4 .
coincides with the set

range of the function y = y—
(—00; =0, 5]J(2; +00)

(—o0; —1] [-0,5;1)
(—00; 0] U(1; +00) (1; +00)

Ob6nacTe 3HaveHuit pyHKIMN 3y = coBmazaer ¢ muoxecrsom / The

28

STm—2c 200— 37r

Sm—2a
Cos =5 - ctg ==

5 - ctg
sin (o — 37)

—ctg o

200—3m
2

pasuo / Calculate

—tg?a tg a

Bripaxenune

ctg?a

sin («a — 377)

E ctg o
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16| Bce pemenus mepasenctsa ! < 2 obpasyior muoxkectso / All solutions of the
inequality 2! < 2 form the set
(—00;0) U(0, 5; +00) [2] (—00;0,5) (0;0,5)
(~0,5;0) (0,5 +00)
17| Hapa6oms y = 22 — 1 n y = 322 — 2ax + 1 UMEIOT TOJLKO OTHY OBIIYIO TOUKY,
ecrm / The parabolas y = 22 — 1 and y = 322 — 2az + 1 have only one common
point if
a>2 [2] a<-2 —2<a<?2 a=+2 la] > 2
18 z—V5+2 .
Jpobb ——————— 10/I0KHUTEJIbHA TIpU Beex & u3 MHOXKectBa / Fraction
z—+6+3
T V5t v2, is positive for all z from the set
z—V6+3
(V2= V5 V3 - 6) (—o03 V6 — VB)U(V5 — v2: +o0)
(=003 V5 — v2) U(V6 — v3; +0) (V5 — V2 +0)
(V6 - Vi VE - V2)
19 2
ObmacTp onpeesennst GYHKIMNT Y = COBITAJIAET C MHOYKECTBOM
(x+1)>—4
3
/ The domain of the function y = % coincides with the set
NICES
(—003 =3) U (1; +00) [2] (-3: 3) (=3 1)
[4] (-15 3) (—o0; —1) U (3; +00)
20| Paccrosmue MEK Ty TOYKAMU epeceYeHnst rpaduKoB
(x+ 2y)2 —(x—2y)?=32ux+y = 5 pasno / The distance between
the intersection points of the graphs (z + 2y) 2 (x —2y) 2=32andz+y=>5
equals
Gz G @i @si [
21 . 1 3
MHO>KeCTBO pelennii HepaBeHCTBA P 71 pasHo / The set of solutions
1
of the inequality P < p— is equal to
(8; +o0)[2] (5; +00)[8] (—o0; —8)[4] (—5; )[5] (~8; —5)U (15 +o0)

29

Ipousseenne kopueit ypasuenus 1g? 22 = 4 pasuo / Find the product of the
roots of the equation lg? 22 = 4
100 ~100 —0,01

1 kopenb 10 - exuncrBennbiii / the only root - 10
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30| Bce pemenns ypaBuenus tgx - ctgx + sindx = 1 ompemensiiorcss (hoOpMyIOit,
(n € Z) / All solutions of the equation tgx - ctgx + sindx = 1 are determined
by the formula, (n € Z)

ﬂ'n %—I—gn Egn :I:%+27m %n

[6]
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